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1. aﬂmgummwﬁwmﬂhwmﬁfaamw \
() 1992-93 & 2000-01 7 mﬁhq@mmﬁmmﬁﬂw%m

(b). gwmmmwwwv
(©) WWWW@E@W@WWW@HW

Tt HoR,/d faum/3 sieT AR/ o ?
(1) (@) &) 2 @ afre”
() (a) (o) - @) e

Consider the following statements regarding the impact of Economic reforms :

(a) Between 1992-93 and 2000-01 the economy grew at an annual average rate of 6.3%.
(b) The reform programme on poverty reduction was less positive.

(c) India’s unproved foreign exchange management restored the confldence of foreign

investors.
Which of the statement/s given above is/are correct ?
(1) @and®) 0 Gad@
(3) (a) and (¢ (4) All of the above

2. WIBIH R TR IS SR e T Hase SR R e For?
(1) ufed v dm (2) THO e FeE
- (3) S YeEe e (4) G derefie e

Which of the following five year plan gave emphasis on heavy industries for mdustrlal
development ?

(1)  First Five Year Plan _ (2) Second Five Year Plan
(3) Eleventh Five Year Plan (4) Seventh Five Year Plan

3. 1904 T TEHR FRIEIEST 1912 Ut Fo TEHR FRIG O] FIUAWH GrASush! Hiowt s
T B 7
(a) ammmmmmwmtﬁ%
(b) TEHESRIER SoR TS TN 1904 <A1 SIS FEARL .
I I
1) () ¥ (2) (b)FH @) I @) o R
Which of the following reasons were responsible for replacement of Co-operative Act of
1904 by Act of 1912 ?
(a) It permitted the formation of primary credit societies only.
- (b)  Except-credit societies other societies were left out of purview of 1904 Act.

Answer options : ) ‘ )
(1) (a) only (2) (b) only (3) Both (4) None of the above -
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L TR SO T T TR T g T e ?

@) welE R ¥R (2) ST (ASHA)
() wER IR SR - (4) WEHE AR el
Which of the following is not a part of Rural Health mfrastructure ?
(1) Primary Health Centres . - | (2) ASHA
(3) Commumty Health Centre (4) Government Civil Hospitals

5. mmmmmmﬁmmw
(a) Wﬁwzﬂa@mﬁwmwaﬂﬁﬁmmmww
(b) THIET TEUL FIoAEI Ul HOAY T ARAA
() TN R TR SRE 1991 TR YE GE R

et I faum ae o ? | |

(1) @%[ . (2 BT () @R (4) O TR
With respect to the impact of globalization on small-scale industries, consider the following
statements. ' ‘

(a) Many of the small-scale industries started closing their activities since 1991.

(b) Small-scale industries are strong enough to face competition with mulh-natlonal
- corporation.

(¢} - Governments protection to small-scale industries contmues even after 1991.
Which of the above statements is correct ?

1) ( ) only _(2)‘ (b) Only : | (3) - (c)only (4) None of the above

6. Yl it wmmmﬁuﬁﬁamam
@) WWMWWW?WWW
(b) TS T I SUTETEA STicR-T4 ST faifa SATIR Wieeme <.
() 1974 W% AT e Ry wEEarS TV 9.
et Hn/ faR/ aeT ST/ e 2 -
0 @ame) @ GEMQ @) @FWMEQ @ )
Consider the following statements with reference to Agricultural Cooperative Marketing.

(a) The National Agricultural Co-operative Marketing Federation of India (NAFED) is
the apex co-operative organisation at the national level.

(b) NAFED promotes inter-state and export trade of farm produce.
(c) The National Co-operative Development Corporation was set up in 1974.
Which of the statement/s given above is/are correct ?

) @and®) @ Gand(@ @) @ad@ @ ony)
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7. GO BN faum, faam W/atﬁw
(a) mﬁﬁwm WWH@WWWWW
() o o
(1) (a)qr«ﬁ @ bHwEEL (3 ﬁ%”r& | wqrét
Which of the following statement/ s is/are correct ?.
(a) Globalisation presupposes complete removal of. hcences, quotas and tarlffs
(b) Globalisation means pohucal mtegratlon of the: World :
Answer options : L : o ‘
(1) (a) only 2) (b) only . (3) Both ) '_ ) (4) Nelther
1999 =01 TE.H. wuﬁaﬁmﬁrmﬁat amrﬁaagsﬁmmwhmﬁmﬁwmw
(@) Troew S doRES AavE we) 12% Wiedd o em Ry, o o0
(b) SRS HT Ye AT 50 TG WA T 1 Hie! ARG FRfereht, v
(). Wem T Sl SeaTeTae] 120 o] W %avma 31@ o e
wotw B e ey
1) @3E @ pEmQA @ FTEE A @) @ 3L
Consider the following statements regarding small scale industries,.based.on. S.P. Gupta
Committee (1999) recommendations. e
(a) A capital subsidy of 12% for investment in technology in selected sectors .
(b)  The limit of excise duty exemption raised from ¥ 50 lakh to one core rupees '
(c) At present only 120 items have been reserved for productlon by small scale sector
Which of the statement/s given above is/are correct ? ' O
(1) (@) and (b) (2) (b)and (c) (3) . Onlys(c) : . - ""(4) (a') and.{c)
e T 4T Selreferia) sieReon e T el e o W ﬂ‘\ s M

(1) mgﬁww@wsmmmwmﬁmwwm
(2) TR TheT A € 10 Y SR oww .

(3)  TTAIIEE FeheuTsl aape T 15 et gach! ST San, oA

4) mwmwsmﬁmaﬁqﬁzaﬁﬁmwmmﬂ\

Medium enterprises under manufacturing sector has defined as :

(1)  The enterprise having investment in plant and machmery is more than flve Cr. but
doesn’t exceed ten Cr. rupees.”

(2) The enterprise having investment of ¥ 10 Cr. including plant and machinery.

(3)  The enterprise having investment in plant and machinery of ¥ 15 Cr: °

(4) The enterprise having investment in plant and machinery less than 5 Cr. but more
than 2 Cr. of rupees.
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10. ‘@EE’ mmmmmmﬁmmmmv
 (a) T Tl s (b) mmﬁw L

() PrTCH SIS ) mﬁmurm wma‘tw
it ara v e | | _
(1) (@) () = () : () (@) (o) 3 (d)
(3) () (b) A (c) | @ (), (© s (d)
Which three measures are considered on prlorlty basis in the concept pnvatlsatlon ?
(a) Ownership measures (b) - Orgamzahonal measures N |
() Operational measures - (d) Liberalisational measures

Select correct options : :
(1) (a) (b) and (d) - @ (@)
(3) (a) (b) and (¢) o (4) (b),

11. WWWWWWWW&%
(a) HUA! SRR HAH.

)
() f ¥ ot 2.

(d) o wee, o

I T/ T SRS SR/ 3R ?
1) (@) = ) @ (@
G @@ (@ e o

- The following agencies are controlling the activities of Multinational Corporation in India.
(a) The Ministry of Company Affairs. B
(b) The Reserve Bank of India.
(c) The Ministry of Industrial Development.
(d) The Ministry of Finance. _

- Which of the option/s giveﬁ above is/are correct ?

(1) (2) and (b) - (2 (d)and (d)
3) (@and(d) o (4) Al of the above
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T wmaﬁaﬁa (24 Generation) 3nfYe YuRY Heuld Bt foaum foraw =,

(a) TR Y[fH TR TrreerTeRg gfawn Revm SRR

(b) WY ngﬁmmwmﬁam\/

(c) WWWWWWWW%%

e P/ faee/A 3T TR/ ST 2

(1)  (a) ST (b) @ )

¢ @@ (@) v T

Consider the following statements regarding Second Generation Economic reforms.
(a) The role of Government convert from the ‘controller to the facilitator’.

(b) The Government commit to suitable reforms in the infrastructure sector.

() The Government commit to the full functional Panchayati Raj Institution.
Which of the statement/s. given above is/are incorrect ? :

(1) (a)and (b) ) (band (g
(3) (a)and (¢ | (4) None of the above. .

13.

| e P e e T S e T R S T2

O Wy wowEm (3) e @ e
Which one of the following is the finest natural harbour in the east ? :
(1) Mumbai (2) Kolkata (3) Cochin (4) Kandla

14.

A HIo frem)/ Y et o/ e ? |

(a) U o IMF)WWWW/
(b) WW@(IMF HWWWW
(1) (a) (&) (b) ®H () (4) T
Which of the following statement/s is/are correct ?

(@) IMF promotes international monetary co-operation.

(b) IMF helps in framing monetary policy of member nations.

Answer options :

(1) (a) only (2) (b) only (3) both (4) neither

15.

iR SR TReE (WTO) et Tured 9t ?
(1) 19Hat 1995 (2) 19Mam 1994 (3) 30 fsdar 1994 (4) 30 fedam 1995

On which date World Trade Organisation (WTO) was established ? ‘
(1) 1 Jan. 1995 (2) 1 7Jan. 1994 (3) 30 Dec.1994  (4) 30 Dec. 199
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(1) friee o 2L T ST

(3) ST AR (4) ST G

With which of the following area the study of Dandekar and Rath in India is related ?
(1) Planning process. - . . (2) Study of poverty

(3) International trade (4) Industrial policy

17,_,:;@%@%3@@@@@1%%@@ mﬁ
S (1) A A R |
") fod ¥ 9 T e B e,

(3) e U fermt e

) Hwamqmﬁw

"Which of the following is not a way to raise capital of state cooperatlve ‘banks ?
(1) By selling shares to members of society: :

..(2) By owing debf from RBI and state Govt. of India.
~ (3) By open market operations.
(4) By accepting dep051ts from members and non-members

18. W@aﬁaﬁwwwﬁ qulldsﬁum%ﬁaﬁaﬂﬁﬁméaﬁmzom
Wﬁgﬁi’ﬂﬁ7
EREERICH h (2) qrfagua
(3) = g (4) aﬂa&ﬁﬁvﬁ%‘rw

Which of the following Prime Minister restructured 20-point programme announced by
late Smt. Indira Gandhi for poverty eradication?

(1) Rajiv Gandhi o (2) Narsimha Rao
(3) V.P. Singh - (4) None of the above

19. @ﬁ@ﬂﬁ B/ T wrrcﬁq Wm&fﬁm ?
) o I v A TR R

(2) S GuRoTE HEE HEd AT
(3) hieedl I A1 Jvard Fqel
4) ot g9
Which of the following indicate/s failure of planning in India ?
(1) Failure to provide employment to all able bodied people
2)  Failure to implement Jand reforms

(
(3) Failure to check the growth of black money
(4) Allthe above '
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20. WWWWWWWWH&%W%@
FOI A e,

(a) TETER B maqm - |
(c) SIfgH Huxit Tah 3 m@ammm "
FHIGHH B TR sRET 37Rd 2

) @IME @ @AY G @O @ 60
WTO is set up and designed to play the role of watchdog in the spheres of the following

matters :
(a) Tradeingoods (b) Tradein se_rvlces
(c) Intellectual property rights (d) * International peace and co-op'eratiron

Which of the above statements are correct ?

1) @and®) @ @and© - @) @ Gand© @ @) ()and(d)

21. SREA T Ao i yRdE e e e e e
(@) W FrareH § gers enfie e or. v~
(b) et s 7 s Freie ok,
() vt Feter & wenfer i ame. v
SIGYH! hIo /<t Faem,/ 3 W N/ 37 2
(1) (@) e p) A OIRCE IR
@ (@) 3 @ e

Consider the following statements with respect to Indian Planning before 12'h five year
plan :

(a) Indian planning is indicative economic planning.

(b) Indian planning is physical planning.

() Indian planning is social planning.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and ()
(3) .(a) and (c) (4) Al pf the above
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22. WWWWWWWWWWW7
(1) HEFH FH gqEE (CAC'S)
2) fae W 9% (DCC's)
(3) T Wehrt FHut ety unﬂm EEL W(SCARDB’ )
(4) T FEE ¥F (SCB's)
Which of the following co-operative bank function for long term credit in the rural
co-operative credit sector in the state ?
(1)_ Co-operative Agrlcultural Credit Society (CAC’s)
(2) District Co-operative Bank (DCC'’s) '
(3) State Co-operative Agricultural and Rural Development Banks (SCARDB’ )
(4) State Co-operative Bank (SCB's)

23. 1960-617 1990-91?11%%@1@@3%@@1@@1@@3? Waleahmww

| TR e Bl /
1) o Frafa wom=n T 9
() onftfer weewrd snfn famrg en
(@) emEmTm
Which was one of the fo]lowmg is the largest tradmg partner of Indla durmg 1960 61 to
1990-91 ?
(1) Organisation of Petroleum Export Countries - -

_(2) Eastern European Countries

" (3)* Organisation for économic co-operation and’ development

(4) Gulf-countries

@ e e o, |
() 2001-02 HeA ST fredl TR oA .
- (b) I MUATER ARAT SYSEEr S 105.02 ORF T 3R,
(©) mﬂﬂﬁwﬁﬁuﬁ%mﬁ?ﬂwmgm IR
- R v/ TR/ SR o/ R ) | | ,
(1) @b @ wWEH @) )& (4) W ()
Consider the following statements : -
(a)  Thé Third Census of small scale industries dorie in 2001-02.
(b) According to this census there were 105.02 Iakh SSI units in India.

(c)  According to this census the registered units were 87% of the total
Which of the statement/s given above is / are incorrect ?

() @and () (2) only (b) ®) (and(c) (4 only(c)
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25. WS IR TSN &SN Hee W B
(@) T =T HIS AT —
(b) TN BT USRI, -
(c) wferer farman i HTUam™ Hed HTAM.
TSI U FuF/ faum stie TR/ 3R ? :
1) (a) v 2) (a) 3TUND) T
@)  (b) 3ufur (c) wa @\, (@), &)/ (@)
§£n,all,_-$elle industries are significant diie to the following features :
(@) Use local raw material.
(b) Engage local manpowet.
() Helps in reducing fégional disparities.
Which of the statemént/s given above is/are correct ?
(1) (a) only e (2) (a) and (b) only
(3)  (b) and (c) onlys 4) (@) (b)and ()

26. W faun faem =,
(a) R wrem gferen fasfa St waida = T 2006 7 A
(b) Wwwﬁgﬁmﬁmmﬁwmgﬁﬂmw@m
T L.
() T 2007 well e wrang gfeen yewra o fref=ht e g,
TSt FoQ/d faur/S v e/ 3ed ?
(1) (a) 3T (b) 2 () () (3) (a) S (c) (4) T (b)
Consider the following statements :
(a) The India Infrastructure Finance Company Limited (IIFCL) was set up in 2006.

(b) IIFCL providing short term financing for infrastructure projects.

(c) The Indian Infrastructure Project Development fund was launched in December
2007.

Which of the statement/s given above is/are correct ?

1) @and® (@ Gand© () @and(© (@) Only ()
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27. w@aﬂﬁaﬁmﬁﬁuﬁ/ﬁuﬁaﬁm@
(a) W'&WS&WWWWWW@“ e SR,
Afdd .

(b) WWW,WW@W%%WFM
(c) TERR BIHIMETN T HTe Hic.

it Iy
(1) (a) ®E 2) (b) FH
(@) et gd 4) TR TR

Which one of the following statement/s is/are incorrect ?

(@) Co-operation is an involuntary association of people desiring to achiev:
goal.

(b) Co-operation means abandonment of competition in distribution and productiort
and elimination of middlemen.

(c) Co-operation broadens the base of democracy.

e common

Answer options :
(1)  (a) only (2) (b)only
(3) All the above (4) None of the'abowe

28. WRAMI® UehNl TSaa= gRM Qoie faum fa=nd =.

(a) @& AT STEHRIAT sl S AV SIS WA TR Fesdesrel Feard
B

(b) 1905 WL WYWA: WEh HFYN RIS, THA HA. £~

(c) UEHN Ty e 3w U 9 Th §e' § 3. oL

T R/ faum,/ ¥ Geie/ R ?

1) @3 @ GIMAOA @) @) A (@) T TE

With reference to cooperative movement in India consider the following statements :

(@) The Co-operative Movement in India started with the objective of giving short term
loans to the small farmer’s.

() The Co-operative Society Act was passed for the first time in 1905.

(c) The concept of ‘one village one society’ is the main objective of the Co-operative
Movement.

Which of the statement/s given above is/are correct ?

(1) (a)and (c) (2) (b)and () (3) (a) and (b) (4) None of these
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29. WES faun fammm o=,
(@) 1991 WE} arew fagml aremdi=n SREHR TGH YRAe STeE uRun= geam wme. A
(b) ¥ STl frerfientor 3 qrTOR SxerEagUTs weif ST,
(c)  TEATHS: QU A7 [WeraT SHETIuT Heiftd e
SOt Fow/d faum/ wer ovR/ e ?
1) @@ A @ @fE (@) @3AE A @ FRES
Consider the following statements :

(@) The Economic reforms was initiated in India by the Government of Atal Bihari
Vajpayee in 1991,

(b) Macro economic stabilisation deals with demand management.
(c)  Structural reforms deal with supply side management.
Which of the statement/s given above is/are correct ?

(1) @and®) (2 @Mand@ () @and(@ @) only(@)

30. TR Y@ fHeuiaed Teiets! Sh faum/ faum steT 3Tk ?
(a) S sTeud o ' T
(b) wiSsrEl Hod Yare FHiv Si5e 314 arare fio .
(c) TN o o ol B 318 SrareR oy 3w,
(d) < TS S area,

(1) (@), (b) 30 () (2) () fc)anfiy(d)
3) (@), () 3 (d) (4) o (b)) 31 (a)

Which of the statement/statements are|cdorrect regarding main parameters of
Globalisation ? ~ .

(@) Removing trade barriers.

(b) Creation of environment in which free flow of capital can take place.
(c) Creation of environment permitting free flow of technology.

(d) To increase domestic private industry.

Choose correct options :

(1) (a) () and (0 @ (), () and (d)

(3 (@) () and (d) @) (), (d) and (3)
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31, GOOIH! I FHR & ToF TR Hoiirerdl T

@) s fidt L@ wEEfet
Which of the following is not a part of debt obligations of the state government ?
(1) Provident Fund ' (2) “External Debt‘ :

(3) Contingency Fund " (4)- Reserve Fund

32, Ed ot foe o
(a) ~ HERIE WG ASTIR H Aol 1972-73 Hel nga

(b) _ma‘ﬁﬁmwwmé198788mwzﬁq®aﬁaﬂ604%am367%qﬁaww

© “ ftﬁﬂﬂ%ﬁ@ﬁﬁ‘m Tt ST P GI\‘IHF‘SI'HTW
W @ame @ mEng e @ate @ e L

Consider the following statements :

~ (a) - Maharashtra Government introduced the employment gudrantee scheme in
-2 1972-78.. S

(b)) This beheme Luulubuled lo lhe dedme of poverty f1om 60 4% in 1977-78 to 36 7%
‘ - 1987-88. _

"7 (c) " “EGS benefited a large number of males o'nly'f R
Which of the statement/s given above is/are correct ?

W @A @ Bade @) @ad@ @ oy

aﬁmeWWﬁmmmmem@
(2) Ewﬂmwmﬂa@a‘
(3)  Jexfvre Vet
(4) TS YeEdT wE

Which of the following is not a part of non-development public. expendlture ?
(1) Tax collection charges :

(2) Expenditure on military equipments
(3) - Expenditure on educational services
(4) Expenditure on interest payment
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34, GG faum frErm .

(a) mwmmmwﬁwm

mmwmhmﬁﬁ%ﬁwmmmm%
TR AR e AT el 49 Yo TR

() TTERATHR T TR g el STl TRl o,

afotta /@ a3 o s/

1) @amE @ pafme @) @M @ W
Consider the following statements : ' -

(@) The Ministry of Finance at the centre has the responsibility to oversee the fmance of
the State Governments.

(b) According to the Constitution the state governments cannot borrow from market
without the permission of the central government if the states have outstandmg '
debt with the centre.

(c)  According to the constitution the states are permitted to borrow from abroad.
Which of the statement/s given above is/are incorrect ?

() (a)and (b) (2) (b)and(c) (3) (a)and (9 (4) only ()

35. 1, 1999 Aok Tovioreidt T - AT V] AT THEEIH G TS ?
(1) TR grior o rderd, JemHsT TG dIST, T e A, e Afger dem £

() s i e Gty o, i, o ) s
(3) e T fosm wwise, oW, fora | wios fasw wriw, $feu wieer dem.

(4) hcReh T T Rk, e ASHIR IS, Seled T 9o Ao, T, S
USRS,

On the 1% April, 1999, Swarnjayanti Gram Swarozgar Yojana was stared with the
consolidation of which of the schemes ?

(1) Integrated Rural Development Program, Pradhan Mantri. Gramodaya Yojana Village
Welfare Scheme, Indira Mahila Yojana. :

(2) Integrated Rural Development Program, Vi]lagé Welfare Scheme, TRYSEM, SITRA,
(MWS) Million Wells Scheme.

(3) Integrated Rural DevelopmentvProgram, TRYSEM, Women and Child Development
Program, Indira Mahila Yojana.

(4) Integrated Rural Development Program, Jawahar Rozgar Yojana, Jawahar Gram
Samrudhi Yojana, TRYSEM, Full Employment Scheme. _

FHoAT HIWHTS! S /SPACE FOR ROUGH WORK PTO
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. EeE S A e, WMWWWWWW
AEH T AR?

(1) WS e 3d T A

(2) S e de

(3) o = T A

(4) ot ¥

Which of the following schemes aims at creation of sustainable 1rr1gat10n facilities in
‘Maharashtra by way of absorption of rain water ?

(1) Magel tyala “shet tale’ yojana

(2) Jalayukta Shivar Yojana |

(3) Western Ghat Development Programme

(4) All of the above

37. mmmﬁﬁmmw mmmwmmmsm

A ?

@ e R TEfigae St BT ﬁmq

(2) = R foe 3o g

(3)  $efgTe wRwiic 9 sifw dfem
| Wthh of the followmg was established in 1987 to deal with the problems of 51ck
- - industties ?

(1) Board for Industrial and Financial Reconstruction |
(2) Board for Sick Industries Reconstruction

(3) Industrial Investment Bank of India

(4) Industrial Reconstruction Bank of India

38, T T gt e st A FeT S e e e

(1) 3TehE ANI® 2) oM. fRR

() SfEe el (4) SRR L

Cambridge version of qta/mi_tlt\hﬂof money was first developed by which of the
following economists ? '

(1)  Alfred Marshall (2) I Fischer

(3) David Ricardo (4 Jean Bodin

e FIFEE WA /SPACE FOR ROUGH WORK .
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9; ‘i Whe SR’ WWWWHWWWWWW7
) &R g faw

2) WEN VQ QR o

) S ST AR S R aeE

) AR SeRTeAT SHAIET S & T H

To coritrol inflation, through open market operations, which of the following steps will be |
taken by the central bank of a country ?

(1) Selling of government securities

(1
(
(3
(4

(2) Buying of government securities
-(3) Increase in interest rate of commercial bank borrowings o o |
(4) Reduction in interest rate of commercial bank borrowings ' '

40. GO faur foarE =, |
(a) mewmmvizoomomaﬁmmmw%@m - }

(b) WWWWWWW mg“’yo G o
(c) 2010 TEH WENIR AW Wt faween ooy i #eo R % '
o HR,/ e,/ SR e ? | | -

1) @aEH @ AN (@) @ATCQ A (@) FWEOA
Consider the following statements :

(@) The share of Industry Sector in Maharashtra state gross domestic product was 30.9%
in 2009-10. -

(b) Maharashtra small scale Industrial Development Corporation was established in
1962.

(c) In 2010, Government of Maharashtra scraped the SEZ policy.
Which of the statement/s given above is/are correct?

(1) (a)and (b) (2) (b)and (q) (3) (a)and () (4) only (0

41, ST, @aﬂwmmﬁﬁwﬁmﬁﬁwﬁﬁwmmm
mémmwmwamﬁmﬁﬁﬁrw7

1) e Tgse we (2) | vifod vy
(3) T T %S @ e R we

Which of the followmg was established to take care of unemployment arising out of
liberalisation, Privatisation and Globalisation reforms after 1991 ?

(1) National Renewal Fund (2)  Exit Policy Commission

(3) Employer’s Provident Fund 2 (4) Social Security Corporation

HEAT HIHMEE! ST /SPACE FOR ROUGH WORK PT.O
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42, AL fo Wemees (IFC) VR &1 FH id 7

(1) @l &eren formrarare! ﬂaaugm" mﬁasﬁ YT TSR] ST,

@ o

(3) e e faeRr o e, :

4) Y Sl e o ST,

International Finance Corporation (IFC) works in which of the following area ?

(1) Investment, guidance and asset management for the development of private sector.
(2) Credit supply to central banks.

)
(3) Development and management of services sector.
(4) Development and management of infrastructural facilities.

43. mﬁamwmwamw 200217@@@'@##@%
R T 2 '

» W (@ iR

(3) TLIRAR. FRR @) ol SER R

Which of the following was passed in 2002 to prohibit abuse of dominant posmon in the
market ? _

(1) FERA | (2) Competition Act

(3) MRTP Act ' (4) None of the above

44, GO FrR Forewe oL | |
(a) ST S o A SR SR SR SR
(b) WWWWWWWWW%/
() Wmaﬁ@ﬁwmmwmmww |

FodH Ho/ fa%m/% e 311%/311%?! ? |
(1) (a), (b) 3 (c) | (2) (a) 3T (b)"
(3)  (a) 3T () @ WO A

Consider the following statements :

(@) Personal income tax is levied on the income of individuals.

(b) Income tax has failed to play positive role in redistributing: income.

(c)  Corporation tax is levied on the income of registered companies and corporations.
Which of the statement/s given above is/are correct ?

1) (@), () and @) (@) and ()

(3 () and (0 @ only (0

THYSAT HIWGIS ST /SPACE FOR ROUGH WORK
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45, TS faum foram o |
() T R A 0 W X el O g S,
(b) W#ﬁamﬁwﬁimmwﬁm 3.
0 q@aﬂhm amaﬁuﬂgénﬂamwﬂwm wﬁr@ﬁmﬁgw (a%)
-
Fete woR/d faur/A w an%/aﬂ%a ?
1) (@) s ) o @ @) -
(3) (a) 3 () - = (4) o wd
Consider the following statements : : '
(a) The Value Added Tax (VAT) is multi-point tax collection method
(b) Non VAT is single point tax collection method. : o
() Implementation of VAT will ; ‘improve the purchasmg capac1ty and living standard
of the poor people.
Which of the statement/ s g1ven above is/are correct ?
(1) (a) and (b) (2) (b)and (c)
(3) (a) and (c) (4 Allof the above
46. ﬁﬁmgvﬁma@r?ﬂaﬁﬁmwﬁwmw'm?.
(1) SIS SR (2) NS Tl i
(3) SRR AT (4) M qIX
Gini's co-efficient is a measure of which of the following social evils ?
(1) Inequalities in income (2) Poverty gap in a country
(3)  Unemployment in a country (4) Infant mortality o
o s A feere frere o

47.

(1) 5 R B TI BT A

(2) & T A H T I X 3T

(3) T H T YT AU L IR

(4) IUET F B T8 H e

Select the right statement regarding taxes :

(1) Income tax is not direct tax

2)

3) Property taxes are also indirect taxes
)

(
(4)

Goods and service taxes are indirect taxes

Product taxes are direct taxes

THeAT HIAEE JT /SPACE FOR ROUGH WORK
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wwmmmmmammwwmmmm EEIRTGH
ST AT FHTOS I U TSB! B0 Gl 81 2

(1) T i I (2) THW T TR

- (3) e i v (4) Froaes T S

- Market value of final goods and services, in the country plus income earned by the Indians

from foreign countries, minus income earned by the foreigners in India is called as which
of the following concepts ?

1®W®

(1) Gross Domestic Product (2). Gross National Product
(3) Net Domestic Product (4) Net National Product -
it fqem ferm =,

(a) 2009-10 W) WERTZrEN Ha &S T T 9.6%
(b)  2010-11 HEd HERTEZ THAIIc TE S Hell &Il =T 61% Bl

(c)  2012-13 WL TERISITAT XY@ Ao SCACATT SEHTH &A= ATl 22% Bl
- ittt o/ faum/ 3 seT o/ o ?

1) @&AME (@ @A) @) EAIQ @) ()

Consider the following statements :

(a) In 2009-10, the growth rate of Service Sector in Maharashtra was 9.6%.

(b) In2010-11 the share of Service Sector was 61% in Maharashtra State Gross Domestic
Product.

(c) In 2012-13 the share of Construction Sector was 22% in the Maharashtra State Gross

Domestic Product.

- Which of the statement/'s given above is /are correct ?

(1) () and (c) (2) (a)and (b) (3) (b)and (o) (4) only(q)

50.

TRl W= 1973 SN STRATETER TR ISR RIUITae! T SUd Ao g% hedl,
(a) TIHIOT T ST (b)  FH-Ta g

(c) &F-fomm wEEH (d) TrEm Heke w1E Fem

ot i e Ry o -

(1) (a) ST (D) 2 @& (@) wF() (4) WK (d)

According to Bhagwati Committee Report 1973 the Government took the following
measures to provide employment.- '

(@) Rural Works Programme =~ (b) Agro-Service Centers
(c) Area-Development Scheme (d) Kisan Credit Card Scheme

- Which of the option/s given above is/are incorrect ?

(1) @and() (2 (b)and(d) @) oy &) only (@)

o HIHETS! ST /SPACE FOR ROUGH WORK
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T TS e 280 THR T Foed YRAH fo ST St HI0 SR

(1) o ST ohe ST Tod AERIAY FEY HT

(2) T TR STEH USRSl Yal 0

() %&aa@mw{m N
@) Fe foaeh dede g w

Which of the following duties is not entrusted to Finance Commission of India under

article 280 of Indian Constitution ?

1) Distribution of tax proceeds between Centre and States

(1)

2) Recommendations on governing of grants in aid to state governments
3) . Preparation of Union Budget
@

Recommendations on any matter related of sound finance

52.

gt fquM foam =1,

(a) iR ST Gfren SR A 2014 X E A

(b) e g A S, ST e A 2015 Tk % et

() T8 2012 Al TR B WWWWW

FISYR! v/l faum/Y e 3R/ 3 ?

) @AME @ @ @ Gt ® W
Consider the following statements :

(a) Industrial infrastructure upgradation scheme was launched in 2014.

(b) A scheme for promoting innovation, Rural industry and entrepreneurship was
launched in 2015.

() The governmeht introduced Institutional Credit for Handloom Sector in December
2012.

Which of the _statém’ent/ s given above is/are incorrect ?

(1) (@and(b)  (2) only(a) (3)  (b)and (c) (4) only(c)

oAl HATHIGT AT /SPACE FOR ROUGH WORK

P.T.O.
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53. TMHIY {9 ammﬁa WWQ@WW?
(1) HTEAIHS SIS
() FH T R
(3) ToIA q HH SIS
(4) =Ria 9 GRIFA SRe : \
Which types of unemployment are/is mainly found in rural areas 7
(1) Structural unemployment
(2) Low quality unemployment
(3) Disguised and seasonal unemployment
(4) Cyclical and educated unemployment
54. FANTEA! Seq Goious! Hvk faum ,
(1) = drsren et s st 33% ol wfeer st v SR
(2) T e & e I i ez Sty W FEe EE,
(3 ammwaﬁ\mmmmmwmw'
(4) B A 99 94F (labour intensive) M JREd. ' :
Which of the following statements is not true in case of MGNREGS ? -
(1) At least 33% beneficiaries of the scheme have to be women.
(2) - Wage disbursement o happen througlh bank and post office accounts.
(3) It seeks to provide at least 100 days of wage employment to all adult members of
rural households ~
(4) It emphasis on labour intensive works.
55. WA &= Sta G foeAideht shivrd ferei shis qst ?

) mwmﬁa@mmﬁmaﬂﬁrmmwﬁ%% %’%ﬁwham%f

TGN & 3T
(2)  TRATSA TS e e mmmmmaﬁ

(3) Uk Wl §A T GeIERTSA Y HS AeH o AR,

(4) T & THU USRI 91e1 U Hel 3Tk,

Which of the following statements is not true as far as service sector of India is
concerned ?

(1) Business services including IT sector has been the fastest growing sector.

(2) Share of services in India’s GDP has substantially increased.

(3) Communication services have made a significant contribution to service sector
growth.

(4)  Share of service sector in total employment is very high.

el STATEIE! W /SPACE FOR ROUGH WORK
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(@) E s SeE g0

What was the mandate of the committee established under H.R. Khan - the deputy
governor of RBI - in 2016 ?

(1) To suggest measures to control inflation
Devélopment of corporate bond market

)
3) To introduce cashless methods of payment
)

(
(

To boost private borrowings

57.

T faum foare =0

(a) wﬁmmmu@mawmﬁ?ﬁamm YT HA,

(b) TSGR SR T UGl 15[, 2010 T3 SR ohcd]

(©) mmaméwmﬁmmﬁwm@waﬁ

o R/ R o TR AT |

(1) = (b) (2) K (a) 8 OE CICENORNOEILIE
Consider the following statements.

(a) The Government appointed a committee on the financial system under the
Chairmanship of Chakravarty in August 1991.

(b) The base rate system of interest rate has been introduced with effect from
July 1, 2010.

(c) The base rate system is applicable to all new loans and to the old loans that come up
for renewal. . .

Which of the statemént/ s given above is/are incorrect ?

M) oly® (@ ony(@ (3) (a) and (c) (4) (b)and (c)

ol NS ST /SPACE FOR ROUGH WORK
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58. W faum foamm = | o

(a) wmwmmmmmwwmm

(b) SR e v v Sureh e fifea F .

() 3 viakh S moit anfor et @ e T e T o7,

et SR/ faur s ST/ TR ? o

M Gt @ wmE) @ @afp) @ wEE

Consider the following statements :

() Reserve Bank of India and Government are producers of the high-powered money.

(b) The amounf of high-powered money is fixed by commercial banks

(c) Theory of determination of money supply is based on lhe supply and dunand for
high-powered money.

Which of the statement/s given above is/are incorrect ?

() @and(  (2) only() () @and(b) (4 only (o)

59. o fauM femmm = o
(@) o T e SR < fe g feerd T,
- (b)  WfoR wrEeE g Seare YR STeE AN <A,
(c) o gt & snfefer snfor Tt s e ar et Waifer Wt <,
e <o e v o ?
m paAME @ @AmE @ WO @ How
Consider the following statements :
(@) Economic infrastructure is located within system of production and distribution.
(b) Social infrastructure contributes to the production process from outside the system.

(¢) Communication system is treated as both social and economic infrastructure.

Which of the statement/s given above is/are correct ?

(1) (b) and (c) (2) | @and(b)  (3) only(c) (4) Allofthe above._

ST SIS WA /SPACE FOR ROUGH WORK
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Wl feeT Sgare - 199511&W€rwmmammm @
@MWEM?

'1‘ faaﬁarguhafwa@m?

) o= weRdan anftn IS R e o FE 7

(3) o fomen A o FE

(4) WW%WWWQWW%WW%’M?_

Human Development Report - 1995 launched the concept of Gender Empowerment
Measure (GEM). It indicates :

(1
2

Whether life expectancy is high among women.

~~

)

) Whether literacy and employment rate is high afnbng women.
(3) Whether sex ratio is in favour of women.

)

Whether women are able to actively participate in economic and political life.

61.

R TR A ST e v e R e

() % TR TR eI ST SISO AT TG 2004 WX HeL FA.~~
®) @mﬁzoowﬁa@aéwqmmmm'

() m2009m@pwhmmwm
et Bon/& fur/d v /oAy

O @afip @ @ @) Gt @ Ftow

Consider the following statements regarding with FRBM Act.

(@) The Central government passed fiscial Responsibility and Budget Management Act
in 2004.

~(b)  According to this Act revenue deficit was to fall to zero by 2009 and

(c) Fiscial deficit to be reduced to 3% of GDP by March 2009 |
Which of the statement/s given above is/are correct ?

1) @and(b) (2 (@and() () ()and(@)  (4) alloftheabove

THEAT HIES AT /SPACE FOR ROUGH WORK
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(a) sFTRI A Feereh gt |

(b) SRR =1 SSagur= gl

(c) RIS =1 SHe gt

(d)  SRISTRE =1 e g |
o B T o e ?

(1) FH (@) ® @amE @ W@ @ G

National Sampal Survey organisation developed the concept of unemployment as
follows :

(a) The usual status unemployment

(b) The current weekly sfatus unemployment

(c) The current daily status unemployment

(d) The current yearly status unemployment
Which of the option/s given above is/are incorrect ?

(1) Only (a) (2) (a)and (c) (3) Only (d) () ()and(d)

63. TS o 7 T A 2
(1) i S e ST

(2) GafHdET STER

) TEE

@ T TR

Which of the following is not a contingent function of money ?

(1) Basis of distribution of National Income

(2) Basis of Credit Creation
(3) Store of Value
(4) Transfer of Value

AT HIWEE A /SPACE FOR ROUGH WORK
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64. W foum feramm =, -
(a) wmma@mﬁaﬁﬁm{mq@@iﬁ%
(b) T T Fe P B QT S T
(S WMWﬁWWWWWWWWW

TR AR 3l T
TRt v/ e SRt omed ? e
(1) (a) 3 (o) - @ e
B @amp @ e

" Consider the following statements :
" (a) Product method estimates the net value added of goods and ‘setvices:
(b) The Income Method is employed in estimating the GDP of service ‘sector.

() A combination of product method and incorme method is used for natlonal income
~ calculation by CSO. : :

‘Which of the statements- given above are correct ?

3) (a) and (b) "~ (4) Allof the aboV'e '

65. TP faum fomm =.
() T YU T THIO 2009- 101413‘111@111 W?W sarﬁw@
| W?2Z4OE@§HW@WWWW ARA
(b) 2009-10 T 29.8% T TN e X T | |
(c)  2009-10 HEA 33.8% TTHIO WFME S0 20.9% W& wﬁam@raﬁﬁﬁwaﬁ - |
Fes! HivR/d faum/S AT IR/ TR ?
(1) (a) 3T (b) (2) K (a) () G (@) (b)
Consider the following statements :

(@) According to NSS data for 2009-10 the poverty line was defmed as < 28.60 per
capita per day in rural areas and ¥ 22:40 per capita per day in urban areas.

(b) 29.8% of the population was below the poverty line in 2009-10.

() 33.8% of the population in rural areas and 20.9 percent in urban areas was below
the poverty line in 2009-10.

Which of the statement/s given above is/are incorrect ?

(1) (a) and (b) (2) only(a) (3) (b)and (c) @) only (b

oAl SIS 97 /SPACE FOR ROUGH WORK R
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66, TRATHR B T2 W TG 3&% B ?
(1) TR AgRmee wef S &,
(2) STAYT Y& IS HTW,
(3) AR Heler YR,
(4) ST ANRGNT Se G AT FHH Hed WHH Fedred <o,
Which of the following was the main objective of GATT ?
(1). To reduce competition in International Trade
To attain food security

(2)
(3) To improve inter-state relations
(4)

To ensure competition in international trade through removal or reduction of trade |
barriers -

67. Wi fawr ferewa s
" (a) YT fewa wftdten Sl it wE g SR st
(b) HRdIT 37 WM Y TY RhAa ST SR T oo

FUGTR! HIU /B fa9H/~ TR 3TR/T ?
) @I L @ wmE
3) WK (b) L (4) EWWW@

Consider the following statements :
() Commission for Agricultural Prices and costs replaced Agricultural prices committee.
(b) Food corporation of India replaced Agricultural PI‘ILEb Commission.
Which of the above statement/5 is/are correct ?
(1) ‘both (a) and (b) (2) only (2
(3) only (b) (4) none of the above

68. T T TR I HIHT o fqem feramr =
() 1990 W BT T TG G & TR lqmlﬂdwm -
(b) mWWWWmeWWWWWW
R fohma =1 s faerR et S, -

(c) - 2000 YA = wed BRA W@ WA AR HISTHIT Yo .
it HvR foem/ Y T o1 ?

Q) @@L @ B9 6 @0 (4) AHT T g/\

Consider the following statements about Green GDP. '

(@) The concept of Green GDP evolved in 1990. '

(b) It attempts to factor in the cost of depleted natural resources and pollution which
ultimately affect human welfare.

(c) China had started calculating its Green GDP from 2000.

Which of the statement/s given above is/are correct ?

0 @amd© @ Gand@ @) @and®) @ Noneofthese

| oAl WIS AT /SPACE FOR ROUGH WORK
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S FI TR @?ﬂaﬁﬁ I TG T RS W%ﬁ wmarﬁ wﬂ’fr

ULV .

(1) Wrﬁ T5d | (2) O vgd |

(3) TR Y5 (4) R W UEa

Which of the following describes a system of land revenue in which the respons1b1hty of
paying land revenue was laymg with the cultivator ? ,

(1)  Zamindari System (2) Ryotwari System

(3) Mahalwari System - (4) Contract Farming System

IR ST TSGR BT AfHR H S 2 —
(1) ohewme L (2 STmEFEL
(3) o ¥eET (4) FEH

“A graph reflecting the concept that pollution and other envuonmental degradatlon first
rise and then falls with increase in income per capita” was introduced by which of the.
following persons ?

(1)  Alfred Marshall (2) J.M. Keynes
(3) Paul Samulson (4) Kuznets
71. G faue feem e

(2) VAT ST § HigH FHIUG g SR v T 3R,

(b) A Tea TR ¥ Tal T YA S e O O

(c) YIRANITS TR ¥ Haard Y& 3cdIe S 9 3R, ,

(d) TRARTS WfeH 1 & ST Tt See O U 3T, AN

AieR! v,/ faEm/ e R /q?

1) @) @ ©d @ wEb) @) (@

Consider the following statements :

(a) Punjab is the major wheat producing state in India.
(b) Madhya Pradesh is leading in production of pulses in India.

(c) Maharashtra is the principle producer state of cotton in India.

(d) West Bengal is the Major sugar-cane producing state in India.

‘Which of these statement/s is/are incorrect ?

(1) (a) and (b) (2) (9 and (d) (3) only (b) (4) only (d)

ST HIWTETE! S /SPACE FOR ROUGH WORK
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(1) <9, e, secht, wofimn 9 famg
Q) T, ST, UM, 3O 9 Sl
(6) i, T, sifom, s 3 < s
(@) ot P T |

Which of the following are major home countries of Multi National Corporatlons ?
(1) China, Russia, Italy, Malaysia and Singapore

(2) France, Germany, Japan, UK. and USA. .
(3) Mauritious, Brazil, Australia, New Zealand and South Afrlca
(4) None of these :

7. mﬁmﬂwm

(@) B IS SRS Qe W ST SRe Welle sim ‘ffF{ T ﬁwﬁ

o) maﬁaﬁwﬁag@ﬂwq&ﬁm\/ |

" (o) aﬁﬁwmmmm?%owmﬁﬁ
(d) mwmmwﬁmwﬁﬁﬁ/

o o fa w oA |

(1) W faem o Q@ (@) @)

O @At @ @@ -
Following are the statements about Targeted Public Distribution System (TPDS) :
(@ It divides entire population into BPL and APL.

(b) It works with dual pricing system. |

() Maximum income level of families under BPL was 25,000 p.a.

(d) - State governments wete to decide the size of the population below poverty line.
Which of the above statements are true ?

(1) Al the statements . (2) (a) and (b)

(®) (a)and (o) : ~(4) (a) and (d)

74. U € WIQRTh SATIR h WA den shivfe SLMHe et il 2
| (1) onif, e onf Ttdey, () i, Fer onfe Ydey,
(3)  oTfE, e snftn AR (4) s, s snfn Afew e
NAFTA as a regional trade agreement was s1gned by which of the following countries ?

(1) USA, Maxico and Netherlands (2) USA, Canada and Netherlands
~ (3)  USA, Canada and Maxico (4] USA, UK (England) arid USSR

A A W /SPACE FOR ROUGH WORK
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(a) YRR v SRS e _@Wm%‘mw
(b) WWWWW@WW%& |

ot o/ faury A S o/ ?
(1) ®H @ ~ 2 T (b)~T
(8) TR @TALANS (4 FRE T A

Consider the following statements :

(a) The main objective of the Regional Rural Banks (RRBs) is to provide credit and other
facilities to the small farmers.

(b)  They are basically scheduled commercial banks

Which of the above statemient/s is/are correct ?

M oly@ @ ony®)
(3) both (a) and (b) (4) None of the above

76. ShIOI Y] Wik THAT T e ?

(1) 1969 (2) 1972 (3) 1980 (4) 1985
The South Asian Association for Regional Cooperation (SAARC) was founded in which
year ?

(1) 1969 2) 1972 (3) 1980 (4) 1985

77. Eee fau foErd =
(4) T SRR A W e FHE O,
(b) U@Hgﬂﬁmﬁmmmnﬁzomn@gaw
(0) T Seqre & B Ul FZaArEcie SR Heerd g B 3?@"
Fhe! ﬁmﬁ/zﬁ foem/ = = omR/q? |
1) ) @ W () G @IAQTF (») (D)
Consider the following statements : '
(a) India ranks first in the world in milk production.
(b) National Dairy plan phase I is launched in March 2013.

(c) Dairy sector is the important secondary source of income for rural families.

Which of the statement/s given above is/are incorrect ?
(1) only (a) (2) only (c) (3) both (a) and () (4) only (b)

FHoeAT HIATETS! WA /SPACE FOR ROUGH WORK | PT.O.
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78. WS faym foerm =

(a)
(b)

(©)

0
(3)

mwmmmmawmm/
MWWWWWWWRZO%WWW
WWWWWWW
FH! .

R R R LR E g R
Riid

@afre @ maEtmeN
(a) ST () (¢4) et ud

Consider the following statements.

(a)

)
()

Accordmg to the Theory of Demographic Transition in the First stage, birth and
death rates are high. -

In the second stage of demographic transition populat10n increases-at an annual
rate of about 2.0 percent or more.

In the third stage of demographic transition the birth rate dechnes significantly and
thus the rate of population growth remains low. '

Which of the statements given above are correct ?

1)

(3)

(a) and (b) @) (band ()
(@) and (c) _ (4) All of the above

79.

@aﬂaﬁuﬁfﬁmw

(a)

(b) -

©

mammwwﬁm@)mm
ﬁ?ﬁ’l%mvrq*a‘»sﬂ%ﬁzlem'-n19881t1@3nafrT
meﬁmw&n@m.

T HIoH! e aier od ?

1)
(3)

(a) 9 (b) | @ OFE
W (a) : (4) OOt T

Consider the following statements :

(a)

(b)

©)

NAFED is the apex co-operative marketing organisation at the National level.
Centre for Agriculture Marketing was established in 1988.
Central warehousing corporation was setup in 1957.

Which of the statement/s given above is/are correct ?

1)

)

@and(p) @ BadE
only (a) _ - - (4) All of the above
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80. Wﬁqﬁﬁﬂmw

(a) W@Wﬁﬁmmmﬁﬂau@amwwmw}m

) o P e o0 A W,
(o) Ww%mgm@awwﬁmwmwm

TSR ﬁmﬁ/ﬁr faum stew e/ ?

) @ap) O ®IE

6 @90 @ wem

‘Consider the fo]lowmg statements :

. . (a) The National Committee.on Envuonmental plannmg and co- ordmatlon was setup

in 1972 in India.

v (b) - The Departme'nt of—Environment was: established in 1980.

(c) Sustainable deve10pment can be ach1eved only 1f the Env1ronment is conserved and -
'+ improved. '

Which of the statement/s given above is/ are corréct 7 _

(1) (a)and (b) : (2) (b) and (c)
(3) (a) and (c) o (4) All of the above

81.

ST =R W T i it e I S adee S e

(1) il Ao STfas SR Faw ﬁq&'{—lﬁ‘/
(2) ielten Qe Hew (emuR) Frafra wo

3) ¥ Frafa srefrra wt wo.

(4) AT SYFTR TG TiedTE QU

Which of the following is not an objective of Agreement on Agriculture announced under

- Uruguay Round of WTO ?

(1) Providing access to global markets for agrlcultural products
(2)  Regulating domestic support to agrlculture
(3) Reducing export subsidies to agriculture.
@)

Encouraging modern methods of farming.
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82, WAOYH HUH WHA Wisawr W E ?
(1) -WiwT 9 (WRRE) |
(2) o IR s -
(8) T FEATE B AR
(4) TR Smid Freng o [aavE -
Which of the following is not the part of foreign cap1tal ?
{1) Foreign Aid

(2) External Commercial Borrowing
(3) Investment by Multinational Corporations
(4)

Investment in Non-performing Assets

P———

83. @O faeT foreme
(a) U @ €T 1988 UG ST M.
(b) SiTE HHR FE 1980 HE @] HA.

aﬁaﬂaﬁmﬁm/ﬁaﬁmw%/a?
(1) %X (b) (2) X (a)
@) @3IO)WA 4) 'araaﬁma% ‘

Consider the following statements :

. (@) The National forest policy is implemented since 1988
(b) The Forest Conservation Act was enacted in 1980.
Which of the statement/s given above is/are correct ?

(1) Only (b @ oy
(3) Both ( ) and (b) 4) None of these

84, ﬁa:ﬁa@ﬁ%ﬂm(ﬂoon)wmmw@mm%m
(a) T BfRa iwll, Tl i), I shIiran e B,
(b) T HM UEH TEUAE WA YRATHE i %o T,

TSR HIVR /RO fFem/ ater R/q?
1 @ %R (2) (b) T
(3)  (a) 30N (b) (4) IR T -

The New Agriculture Policy (2000) is known as Rainbow Revolution because :
(@) Itincludes Green revolution, White revolution and Blue revolution.

(b) Under this policy the technology for artificial rain was developed in India.
Which of the above reason/s is/are correct ? |

() () only (2) (b)only
(3) Both (a and (b) - - (4) - None of the above

FHEAT FHIWEE T /SPACE FOR ROUGH WORK



Ke

85.
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(1) e T v 2 waﬁmﬁé&w ,
3) fomvE Heem T (4y Ree THE Frwis

Which of the following focuses on women’s opportunities rather than capabilities ?
(1) Human Development Index (2) Human Poverty Index
(3) Gender Empowerment Measure (4) Poverty Gap Index

86, W e e o | |
(a) f&or qd anfemn vl Gee (TEeT) T AR & ST 28 STHART 1992 Wed
H.
(b) 2007?@#%—@%&@@%8%% amﬁaﬂawa‘twﬁ
! He,
(c) 2020 Ydd ST T I FOEE 5 B,
TSR R/ fuE/ < 311%’/6 ? _
D) @Fb) (@ () @ ®FE (@) wH()
Consider the following statements : :
(a) The ASEAN Free Trade Area was established on 28 January 1992.
(b) Since 2007, ASEAN countries have gradually lowered the import duties to member
nations.
() The target was to reach zero import duties by 2020.
Which of the statement/s given above is/are incorrect.
(1) (a)and (b) (2 only@ (3 (b)and(q (4) only ()
87. o e foe o,

(a)  2005-06 WEdl R THI T FHodeT AN & Ho,

(b) 2005 HE) TR T FOIEA S S S Hewh W a,

(c) 2015- 1éwmwmwm% aqfwm 50 TSR T feo,
TSR R/ fFur/3 e aR/a?

(1) = (a) (2) ™K (b) (3) ™ (o) 4) (@9 (b)

- Consider the following statements :

(@) The National Horticulture mission has been launched by Govt. of India in 2005-06.

(b) Maharashtra State Horticulture and Medicinal Plant Board was established in 2005.

(c) - From 2015-16, the Mission for Integrated Development of Horticulture is implement
in 50 district.

Which of the statement/s given above is/are incorrect ?

(1) only (a) (2) only (b) (3) only () (4) (a) and (b)
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g8, T, e sy i o sl O T R WA o w7

(1) SR <@ 2) ¥l qigas
() wHIiSE wieds (4) SURH FWR T3
Which of the following explains the stock of people equipped with education, skills, good
health ? _ ,
- (1) Labour force (2) Human capital
(3) Social capital - (4) Productive labour force

89. W fouM faumma =,
(a) ofeH fimy A goaes @< gl wiea,
(b) FFE FIOR RagiT SR e FREd T .
©) @mmwmwmm@qwa@wmm
FIGUHT HIT! T ST 3 ? '

1) @) @ 070
G) @) M>WWﬁ
Consider the following statements :
(@) The theory of comparative costs is propound by Adam Smith.
~ (b) Reciprocal Demand Théory which explains the determination of terms of trade.
() Dennis Robertson described foreign trade as “An Engine of growth”.
Which of the statements given above are correct ? '
(1) (@) and (b) @) (b and
3) (a)and (c ) (4)  All of the above

90, Wm@mmﬁﬁamﬁ@ﬁmﬁmﬁm@ e ?
(1) T feoe srefeeme & TratehE! SR o7,

(2) ENgEEEd! o refuRr € TR SeEaR! 3.
(3) T e HAGEEAT T I TS WA SRS Sk Wmﬁaw
(4) WW&WWWWW}W%WW STHTE
IS HRUTYT 378,
Which of the following statements is not true about agricultural subsidies ?
(1) Fertiliser subsidy is borne by the state governments.-
- (2} Power subsidy is borne by the state governments.

(3)  One of the objectives of fertiliser subsidy is to attract more capital to fertiliser industry.

' (4) Low price of canal water, due to irrigation sub31dy hasled to inefficient use of surface

water
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91, mm'mmwmmg@m 53 ey =
sl T o o, .» —
(1) 20 @ 15 - (3) 10 4 5

Under Targeted Public Distribution system, each poor family was entitled to
kg, of food grain at highly subsidised prices.

1) 20 BNCERE (3) 10 @ 5

9. WWWWW@%@%OWWWMW? |
(1) hed 3nf Jom |
2) TR 3 Fwfew g
(3) “ormNERI|T .
(4) TSR HIORE T

Which of the followmg sources of irrigation in India has made spectacular progress in -
2007-08 ?

(1) Canals and ponds (Tanks)

(2)  Wells and Tube well

(3) Jalyukta Shivar and Farm lakes (Shet tale)
(4) NOne of the above

93. @Eﬁafermﬁ forama =, .
() g Torhr st wypeRTe SO frast WE AL wEmd 2014 9 G W

(b)) TWRAADRD =0 TeESTEvIRG. 12 S S 2000 FHI THAE! SR ?RFE{
H. |

() TS g9 AN A1 2013 AL T Hal.
Fiotent Sivw/ o e/~ g oTR/d?
(1) (a) A (b) 2 w®b) (@) (O( (4) ™ (c)

/

Consider the following statements :

(@) National programme for Bovine Breeding and Dairy Development was launched in
2014.

(b) The budgetary provision of ¥ 2000 crore has been provided for implementation of
NPBBDD during 128 plan.

(¢) National Dairy plan was launched in March 2013
- Which of the statement/s given above is/are incorrect ?

(1) @and()  (2) only () B @and(@ (@ only(

. oA ShTHTEIE! W /SPACE FOR ROUGH WORK P.T.O
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@wﬂa ferer ferera o
(a) WW@WWWHNWWW
(b) IR g7l SIS QUL WRATST JoH FHiE ST,

(o) T e EE e gL 2014 HE GO AL
TS DI/ faur/ g eﬂ%/ﬁ?
@) @b (2)  wH (b) (3) () @ (b))
Consider the following statements : ' :
(a) Livestock census started in the country in the year 1919.
(b) India ranks first among the world’s milk producing nations.

(c) Dairy Entre-preneurship Development scheme was launched in Sept. 2014,
Which of the statement/s given above is/are incorrect ? :

) @and® (2 only () @ oy @ © and (9

95. mmﬁwﬁmmmmmﬁﬁmmwaﬁwﬁ7
) Wyl o S T
'(2) e o1 wEe T
(3) UM A EEE T
(4) odfeieh U HER T

According to David Ricardo, countries should produce and export 1 the commodltles based
on which of the following principles ?

(1)  Absolute Cost Advantage Principle

(2) - Comparative Cost Advantage Principle

(3) Equal Cost Advantage Principle

(4) Realistic Cost Advanlage Principle

96. NG TR Hfed wel ferm e (Revamped PDS), & ?ﬂ'\?ﬁl 1 SR 1992 Hel
| TS I T heAl.
(1) Froeeen Semiie A TR e TR SR Suta T mmg@aw
(2) RGNS AR ST FHIE ST [ HT0
(¢) IRETEEET S i TRAYAN 37 8= 3T A0
(4) oiod! R TR
Revamped Public Distribution System was launched by Government of India on

1%t January 1992 with objective

(1) To ensure minimum availability of food grams per aglult per month in the 1dent1f1ed
—_— - —
area

{2y To provide minimum availability of food grains to the people below poverty line
(3) To provide required quantlty of food grains to the people below poverty line -
(4)

None of the above

oAl mrma'r S /SPACE FOR ROUGH WORK



C | - 39 . cwo

97. aﬁwmmgmwm@zaﬁﬁﬁmpmmmmmm
W fewnh

1) R @ () W (@)

The Head Office of the “Agricultural and Processed Food Products Export Development
Authority (APEDA)” is located at

(1) New Delhi (2) Mumbai - (3) Chennai (4) Bangaluru

198, 2016-17, H5 SrddEHeIN ﬁﬁm HAIS! T Ws«ﬁ (LTIF) =
C gERe T ki gae el stoe e fee
(1) 10,000 (2) 20,000 (3). 30,000 (4) 740,000

The 2016-17 Union budget make a breaking announcement in the sector of
irrigation-setting up of Long Term Irrigation Fund (LTIF) in NABARD with an initial

. corpus of ¥ __ crore.
(1) 10,000  (2). 20,000 3) 30,000 (4 40,000
99. QU ScUeH fala e e S SISt 1972 WRA e ¥oTq ShOAw
(1) e (2) T (3) WL @) THAH,

was setup in the year 1972 to undertake the promononal work relating to the
export of marine product.

(1) APEDA (2) MPEDA ' (3) CACP (4) NCDC

100. WHER 9 ¥ Ao 9fee 2o o HIv FeEHy Gagwn 3.
e

) 15 ST 2014 - 14 T 2015
2) 1% 2014 - 31 A 2015

) 1 T 2015 - 31 HIE 2016

) 15 MR 2015 - 14 AT 2016

period is considered as phase-I of Pradhan Mantri Jan Dhan Yojana.
) 15% August 2014 - 14t August 2015
) 15t April 2014 - 315t March 2015
) 1%t April 2015 - 315t March 2016
) 15% August 2015 - 14th August 2016

oAl HIUTETS AT /SPACE FOR ROUGH WORK 'P .0
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101, TAF RIS T SR ufA’ (SHC)@T!ﬁaﬁaTﬂwrwm W&WW&
ﬁsﬁw@ mﬁﬁﬁmm -

19 Fgar 2013/*\ () 19 ThyErd 2014 )\
3) 19 TgaERI 2015 - (4)" 19 Tgart 2016
Soil Health Card for every farmers was inagurated by Hon, P:M. at Suratgarh, Rajasthan
on ' . o _ - :
(1) 19 February 2013 ~ (2) 19 February 2014
() 19 February 2015 (4 19 February 2016

102. WW%WW@WWFWWWQ&:@@ Thamm@éaéw
‘ AT SRR zﬁmaﬁfﬁaﬁ

1) 60% 2 90% (3) 75% | (4)_" 50%

Under the pledge loan scheme of MSAMB the farmers keep his produce ir. the APMC
godown and gets per cent of the value of loan :
1) 60% (2)  90% @ 7% @ 50"%

103. & 2016- 17mmma&mw w:mmmﬁaﬂm@m Ea'czhﬁt
o 1470 @ 1310 7\ @) 1360/\ @ 1410 |
The minimum support pr1ce approved by the govemment for the Kharif 2016-17 season
was __- - for common paddy.” - : SRR
(1) 1470 (2) 1310 3 1360 . - (4) 1410 -

104. a?ﬁzmwﬁwmm aqt«s'%—eamﬁzmﬁhvﬁ (ARDC)HTF@H’TWWIE[@l%BW@ mgr@qﬁ_

_ wwaﬁw |
(1) o9 qEden el Q@S )~ (2) WA S s R -
@) IEEATM A Q@R (4) T THRE S G

Agricultural Refinance and Development Corporation (ARDC) was established on
July 1, 1963 primarily to meet _ :

(1)  Short term credit supply (2) Medium term credit supply -
(3) Long term credit supply (4) All types of credit supply

FoT HTHTETE T /SPACE FOR ROUGH WORK
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105, =1 TR w’r e AR AR 3T, |
('1) Iy fma i (2) WRdE e W;\
(@) THE R - A :
Agricultural Price Commission was set up on the -recommendation of the
(1) Foodgrains prices committee (2) Food corporation of India
(3) NAFED | (4) APEDA |
106, F0 TS T oW wvers AT TF ol TOHE SRt @
() 15 Tt dfmEm @ 0fsh iR
(3) 25 et Afewam (@) wotw S
“Calorie is the amount of heat needed to raise the temperature of one kllogram of water
through one degree at _ R
(1) 15° (degree) celcius | | (2) 20 celeius
(3) 25° celcius | (4) None c')'fv above
107, T 2010-2011 =T F FHORTER TRAHI® 30 T SRt wen T B,
(1) 13835%0@8 () 11326 00W  (3) 12078W@  (4) 13538 SO
According to 2010-2011 Agriculture census, the total number bof 'oper.ational holdings
was
(1) 13835 million (2) 11326 million (3) 12078 million (4) 13538 million
108, Wheer @ w1 Fah framm s SroRiEE a1 SRwE" (1CDS) T qel
CARIEERETN
(1) 1965 ' @) 1975
(3) 1985 4) TR FE TE

The “Integrated Child Development Services Programme (ICDS),” Development by
Department of women and child was implemented in the year

(1) 1965 ) 1975 |
(3) 1985 (4) None of above

THoAT HIATETS W /SPACE FOR ROUGH WORK
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109, WA Ft Sﬂ'ﬂﬂﬁ TRY (ICAR) Rasidmed weiem 3 i gowoma 'Cl%?iﬂiﬁ CIED

S S Y3 SR SARAHY W2 96 T 1951-2014 =N H@@HT
(1) 5 2) 7.8 (3) 95 4 12

ICAR has played a pioneering role in Green revolution through its research and technology
devélopment enable the country to increase of food grainby ____ since
1951 to 2014. _ ' _ '

(1) 5 (2) 7.8 - (3). 9.5 ' @) 12

110. 7 1960 1 €vTen Yatufy Fe damEreh CeRa w91 TR W TS g, aWe
ERLGR 7 T qHEY A S |
(1) g 2 T’ (3) (4) s .
Introduction of new technique of agriculture became popular by name “Green Revolution”

around the world in early 1960s in which the first crop introduced was
(1) Rice (2) Wheat (3) Jowar (4 Bajara

(@ ‘s feemn’ & g % Tuifen.
| (1) STpEaiel Snfoa geA SR
(2) T S YA ST, T & T fRtoren sme

(3) e Wie e ST THEROTH] dEen daHH e g
(4) " ORHTO] S AT wserE qAEYt I
The term “Nuclear Winter” refers to ____

(1) Unavailability of nuclear fuel for nuclear reactors
() Accumulation of o, B and y-rays near the north pole of the earth

(3) Drop in temperature as an environmental effect due to a major nuclear war
-(4) Itis a synonymous of ‘nuclear waste’

112, WHGIH I GR Fora Y 6T SR 2
(1) Soa%HE, aW, GER sitftr, smfrae
(2) YoERGEM, oW, WY offorer, SofaR ).
(3) SaawgEr, gEE sifers, aftas, Sefard N
(4) o, sivas, Sofaed, TEE shftoen I~

Which of the following are the indirect form of solar energy ?
(1) Biomass, Wind, Ocean thermal, Nuclear '

(2) Biomass, Wind, Ocean thermal, Hydel
(3) Biomass, Ocean thermal, Nuclear, Hydel
4)

Wind, Nuclear, Hydel, Ocean thermal

FHoedT FHTATASE WO /SPACE FOR ROUGH WORK
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113, SR A T gE S SrEviE R 11 % 13 3 1998 T e i
1 @ ;| @ W @ W

Pokhran II was the second Indian Nuclear test conducted the explosions of series of
nuclear bomb between 11 - 13 May 1998.

() Three (2) Four (3)' Fve =~ (4) Six

114. wﬁ 2014 ¥ 2017 99 GSAT 14, GSAT-9, GSAT 6, INSAT-3DR ITE AT GSLV g

vaft P R, %osﬁzowﬁﬁuﬁmwaqam%ﬁsﬁmﬁﬁ |
(1) GSAT-6 (2) GSAT-9 S (8) -GSAT-14 (4) INSA_T-SDR
India has launched GSAT-14, GSAT-9, GSAT-6, INSAT-3DR by different GSLV from 2014

to 2017. Out of these, was launched on 05 May 2017 from Satish Dhawan
space ( centre SR o , :

(1) GSAT-6 (2) GSAT-9 (3. _GS'AT—14 o (4) - INSAT-3DR

115. IR SNfvek Fa (Nuclear waste) &l @?ﬂ@ﬁﬁ ! Y9 TR 3 ‘5’!‘«?[

(1)  WErmEe ¢~ o ) <L

() S | (@) s S AT
High level nuclear waste is generated from one of the following :
(1) Laboratory ' (2) Industry

(3) Reactor ' (4) Nuclear Fuel Cycle

116. TSR RO T fopan g e forgle whwan'! <wifer ?
(1) 28Ug+1ny > WBag +%Kry, + 31ny,
(2) PUg,+'ng - M4Bag, + %Ky, + 3 Ing
(3) P8Ug,+1ny - 11Bag, +%Kry, + 6 In ,\
4) 2Ug+1ny - 1Bag +7Kr,, + 51ny o
Which one of the followings describes the proper nuclear fission reaction ?
(1) 28y, +1n0 — MWBa. +%Kry + 3 Ing

(2) PUg+ing — MBag,+%2Kryg + 3 Ing
(8) P°Ug+Tng — MBags+PKrgs + 6 Ing
(4) 2%5U92 +1ny - ¥9Bag +9Kr,, + 5 Ing

ST SITETS! ST /SPACE FOR ROUGH WORK PT.O
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117. = U 3 frge 9 ¥ S T 1f[eﬁTvEIT AT 0.1 2% ell Swfsd B W
1. 25U 3 e a1 e A2 |
(1) 9x10Mj 2) 9x10B] (3) 9x1012 ]' (4) 9x10M7
~ When Z-SSU undergoes fission, about 0.1 percent of the o'riginal mass is released as énergy.

How much energy is released when 1 kg of zggU undergoes fission ?

(1) 9x101] 2 9x10B] (3 9x102] (4) 9x104]

118. WWW%WWT@@@W?“ _'
(o)  SaeEETE g v Siifod THtaq S € 24 QT SR
(b) quwwmmﬁammnmmmm

AU ST T ST,
() ﬁ@avqmmﬂam%nsﬁﬁ/@mmamﬁaqwﬁmwwfwm
f&or drer .
(d) ﬂ?mﬁﬁwmﬁamﬁaaﬁ%ll.sﬁﬁ/mmﬁﬂﬁaqmwmﬁ?wzm
(1) TR (a) (2) R (d)
@ () s (@) R R T

As far as space science in concerned, which of the following sentences are not true ?
(a) The geo—synchronous period of a spaceéraft around the earth is 24 hrs.

(b) The velocity of a spacecraft to escape the mﬂuence of earth’s gravity must be more
than or equals to 11.2 km/s

(c) Toreach Mars, a spacecraft must be launched at 11.8 km/s in the same direction the
earth moves around the sun.

(d) To reach Venus, a spacecraft must be launched at 11.8 km/s in a direction opposite
“to the direction the earth moves a round the sun.

Answer options :

) Ony@ @ Ony(@ @) Bad© (&) Nome

FouT HIEE WO /SPACE FOR ROUGH WORK
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119. oo faum fosm = | __ : R

(a) RN IR, SR A ATARTER FoE ST o Foed 'siqe?loﬁﬂl WHMH |

(b) R TRM S TGV ST el fﬂﬁ'ﬂ El-'\q‘?f( W@I [Geosynchronus transfer

orbit] ¥aY HOAE IR . | A\m
— aﬁaﬂﬁgﬁéﬁm/ﬁaﬁfg@mﬁ? - —
(1) e () @ wE(b)
(@) W= (@) b) (4) aﬁrrﬁmaa

Consider the following statements : : :
(a) Cryogemc Engines use liquid oxygen and liquid hydrogen at Very low temperatures

(b) This technology is needed to put heavier communication satellites i in a geosynchronus
transfer orbit.

Which of the above statements is are wrong ! ?

(1)  Only (a) o () - 0n1y(b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
'wm@ammwmmmmmmw g
0 2 >1 ) 1 - 4) <1
When control rods are inserted into the reactor, [K] (multiplication factor) becomes.
(1) 0 2) >1 @1 4) <1
121, o U TR GH JohRId S B %1 9SO B,
| (1) e g Sl S T gee Seean wiqg'@’ﬁ. o
(2) T S Sl BT ShHT gSiieAT Sl | S9ieR B,
(3) - Sl BT THA HIEE! Tk Y€ I,
(4) S S gSt HE A S O HTE Fedl T,

Energy Conversion from one form to another transforms _

(1) Low-quality energy resource to high-quality energy resource

(2) High-quality energy resource to low-quality energy resource
(3) -Quality of the energy resource remains unaffected "
(4) Sometimes quality of energy resource improves and sometimes degrades

THwed] HIATEIS S /SPACE FOR ROUGH WORK P'T o
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122, ¥ (SRO) ¥ e, ST AT T e R E e S
___2017n®mﬁam |

n 101 3 ) 100 SR ('3). BIR (@) 1043

" ISRO launched__ on a single rocket from Srihrikota, Andhra Pradesh and made
a World record in February 2017.

(1) 101 satellites  (2) 102 satellitess  (3) 103 satellites (4) - 104 satellites

123, 'StTETA. @'msqugmziawha@aﬁﬁﬁﬁﬁmmaﬂ%?

(1) wmﬁuﬁw‘wﬁ’%mwnﬁ%@s{ o

Q) SR Sfun snfvrEn ST a@ﬁ@ﬁm
(3) ¥ U YeeteAl A RO, mmawfamm%ﬁ%mmw%
o .m@Wﬁmmﬁm@%ﬁmmﬁwmﬁ

| _Which one of the following statements is incorrect about GSAT -9 satellite ?

(1) :It'was launched in 2017 by ISRO
(2 Itis also called as “South A51a Satellite””.
(3) Itisa geosynchronous communication and meteorﬁlogy satellite
(4) Al South Asian countries including Pakistan are the members of the pro’jfect

WW@W@WWWWWWWW?

(1) o - Q) R

(3) HEHF Fre (4 wmm

The pfocess that converts solid coal into liquid hydrocarbon fuel is called
(1) Liquifaétion (2) Carbonation

3) Catalytic conversion ' (4) - Cracking

%o SHIWTATA ST /SPACE FOR ROUGH WORK .
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(1) e v (fequrrl agm)  (2) q2-%rd vsd

(3) -om s | @ ot

Which of the following means hacker may use to know your password to break into your
system ? _

(1) Dictionary words (2)  Brute - Force method

(3) Key - Logger attacks (4) All of the above

ST HIHIETE AT /SPACE FOR ROUGH WORK

P.T.O.

1

C e ao
125. G faum foram =,
(a) ST IR AU aﬁn'@ an %vhm szocoﬁﬁ kil
- () Wmm%w Wwwmw %raooo%uhﬁam
TE HT T
_ - )
st Foo faur,/ faum 'qiw 37T ?
(1) W () - ,(2) e (b)
@ FW@Ip @ TR
Consider the following statements :
(a) Agni Il is a surface to surface intermediate range missile that can carry nuclear
weapons and has a range more than 2000 km.
(b) The missile reentry vehicle is thade with carbon-carbon comp051tes, to w1thstand
high temperatures upto 3000 degree Celsius . :
Which of the above statements is/are correct ?
(1) Only (a) | (2) Only (b)
(3) Both (a) and (b) | (4 Neither (a) nor (b)
126, TR HIVE Th e ((oree) Yo (HegHer) Qe ?
1) S © () IR
3) IIW® @) wotw wd
Which of the following protocol provides reliable communication ?
(1) TCP (2) ARP
(3) UDP (4) All of the above
127. A THEE faefauarstiar anfon gt faeiv Wi Svamsia ¥y Trorauh! HIocdl STEE

ST, TY TR T W e gen€ T wee s mmperorpee—exr
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128. ERP 41 |qUl 7/ &1 318 :

(1) wREST{wETE @) mﬁ@#@ﬁn
(3) wmfmm' | (4) msaﬂea‘ﬁﬁn
Full form of ERPis:

(1) Extended Research Program  (2) Enterprise Resource Planning

(3) Employee Resource Process. (4) Enterprise Research Plannirig’u o
129, ‘g’ (Saksham) STETEA ﬁfrwq?ﬁ AT o RAT FAIYH S 9 OEW
1) WA I ) sy T
() IWRY (@ e
‘Saksham” online scholarship management system is 1mp1emented in____ state
for the first time. ‘ R
(1) Madhya Pradesh =~~~ (2) Andhra Pradesh
(3) Uttar kPra_desh @ : lI_\II.one_ of these.

130.@%#@@@@@%@3%?@@%%%3@?%%%7
(1) R - e, R e - o
2) FIW - uﬁﬁmwaﬁm 3@5&@6
(B) HW - séﬁgwwaﬁﬁzm TR
(4) W - T, FENR H - séﬁgw

Which of the following pair describing transmlssmn medlum and signal used in Computer
Networking is correct 7 .

(1) Copper - electrical, fibre optic - light
)
(3) Copper - electrical, fibre optic - magnetic
)

Copper - magnetic, fibre optic - electrical

- Copper - lig"ht,‘ fibre optic - electric.al o

Fo FHIAEE W /SPACE FOR ROUGH WORK
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131. mﬁaﬁﬁmﬁm%w7
(a) T TG PR S | |
(b) amwmmmmmmﬁ
0) %mﬁﬁmwmmﬁmﬁwmm
d) e T Rt 7 S R IR T

1) @3E (2 ped . () FHE@) (4)

€10

(b) 3% (c)

L Wh1ch o_f\the fqﬂowmg;prop:efty[;ies could be attributed adult sten};._cells o s

{(a) These are sourced from Embryo’s

(b) These can be taken from;patient to avoid immune rejection problem

() Adult stem cells are not numerous in mature tissues
(d) Adult stem cells cannot repalr tissue cells

‘Answer optlons

) @amd@ @ Gad@ @ oy@ (@)

(b) and (c)

| “a _ R amm R ST FROTE ST W

T e @ P @ el @
is a Growth Regulator producmg ap1cal dommance in plant
(1) Auxin (2) Ethylene i 3) Gibberellin (4)

Cytoklmn

CRC]

/@ A HLTAR, 7 fomdn dod -2 7 g aaﬁ T _q_-

60 O 8 e __.(2). 3o 9 TerER
(3) TR o SRl (@) W dd

Opaque-2 maize composite varieties developed by ICAR are rich in _

(1) Lysine and tryptophan (2) Alanine and Glycine
(3) Tyrosine and Aspargine (4) Serine and Cystine

and

oA FFIETS! A /SPACE FOR ROUGH WORK
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134, el Wl e e b o T A R wE g
1) THNEF (2) HrarE g w@a
(3) TR e IRUHERS (4)  VHNHAS | _!
The newly implemented goods and service tax would __ affect the Indian
Pharmaceutical Industry. '
(1) Negatively (2) NOT
(3) Hardly ' (4) Positively

135. GIAGYE! IR/ faum/S G ofea ?
(a) Tifesh foaumjen yaR wo-Hifgs AFH THEm sl
(b) 3 fohen SR &men YOR 3% Wohd R
(c) TB-AHRIER HTcal- TR YERA T awall
(d) SHIfoE g2 ST & FHTe T
O Gam@ @ @AfE @) W @) ()
Which of the following statement/s is/are true ? -
(a) Polio viruses are spread predominantly by the fecal-oral route
(b)  Tuberculosis cannot be transmitted by milk or food
(c) Kala-azar could be contracted via bite of sand fly
(d) Athlete’s foot is a disease caused by worms
~ Answer options :

() (b)and(d) @ @and() = (3) only(d) (4) only(c)

136. ' SER-faram’ mwaﬁmamﬁw wmmwm ’almﬂa
‘fRRE R e gefid e

(1) F FRI G AAHI FeTH
Q) FH TRIM Hie ST Heas
(3) UM TR GEAEE SN Feash
(4) oM HimEE de fHifed™ Jeash |

The ministry of Science and Technology, Govt of India has been in a fore - front of an
initiative called as Biotech-KISAN. The word ‘KISAN’ in this program stands for

(1) Kurishi Innovahon Science Application Network
(2) Kisan Invention Seed Association Network

(3) Kapas Improvisation Scientific Analysis Network
(4) Kalam Initiative Seed Analysis Network

Foedl HIHTETS A /SPACE FOR ROUGH WORK
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137. ‘aﬁﬁ’aﬁmm@ - @T@Wsﬁmwwm
(1) VRmEREEds (@) FEemeeiie
Q) wEemwER () STrvivon EiRie
are one of the type of bacteria that are used in the process of cheese making.
(1) Saccharomyces sps () Camylobacter sps
(3)  Streptococcus sps '- (4)  Aspergillus sps
138. wE, 9, AR 3, mwaﬁzr - mmwmﬁ
(1) v=r=n @ e @) W (@) W
Cauvery, Sona, Rohini etc. are some of the outstanding Indian ___ varieties.
(1) Wheat (2) Bajra (3) Rice (4) Maize

mﬁmﬁmzcsmmt 3 feor oM,

m ww @ Wy @ wEE (@) R
India’s first 2G Ethanol plant was set in .
(1) Karnataka (2). Maharashtra (3) Uttarakhand = (4) Hyderabad

140..

(WWWW)WWW ﬁ%ﬁmﬁwﬁ.

(1) 35-37°C @) 28-30°C (3) 40-45°C ~  (4) 37-40C

The inside temperature of the artificial Vagina (used in artificial insemination) of cows
should be ideally between

(1) 35-37°C (2) 28-30°C (3) 40 -45°C (4) 37 -40°C

T TIETE Tt GaHEE ST U A EERe qieqy ST,

(1) ¥o9 Aegq S (2) EUSTET
(3) THSLTH.TE (4) TH.TE. @Em
is the commonly used medium for plant tissue culture.
(1) Eagle’s medium ~ (» DPBSA |
(3) HBSS (4) MS medium

oA HIMIEIET S /SPACE FOR ROUGH WORK
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(I)ﬂ?ﬂﬁmmiﬁ@(ll) e i A T A e

o
(a) SRIEIE fed SN

(b) TEHH WG TS

() 2 I

(d) T TR e
Tt R

(@ ®) (© @
O 6@ @ @ 0
@ @ @ 6 G
@ ™ O @ @
@ 6 @ @ @,

52

| 1
Q) ot e
(i) Freafern fammio,

) SRt e

~ Match the plant disease (I) with their causative age.n.t.. (Im:

(

(
N

(

(I)

(a) Early blight of[p:()tato- |
(b) Crown gall of plum.. = .

(9 Leaf curl of tomato . -

(d) Bunchy top of papaya

Answer options : -
(@ () () @

) @) @) @) 6
@ @ ® 6 @
) ) 0 @) @)
H O @ @ @

(

G

e enlII) e e e e

. (). Alternaria Solani

(i) Nicotiana virus 10 . -

- (iii). Mycoplasma . . -
iv) Agrobacterium tumefaciens. .. .= -

FHoeA] SIS WO /SPACE FOR ROUGH WORK
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‘E}mwmmmmmﬁmmﬁmmmmmmﬁwm 3
(1) wadew (2) o T
(3) TR | @) T

A seedless variety of watermelon developed by Indian Institute of Horticultural research
has been named as .

(1) Shweta Seedless | (2) Arka Madhura

(3) Rasaraj | SR (4) Goma Keerthi
@ eIk GO MR - b 1 | 9)2 TR o m@
| . 2) . TR |

() %ﬂmmﬁ%mq TOER (4) Aem wiEe
One of the followmg is not a method for direct gene transfer :
(1) Microinjection (2)  Electroporation
(3) Laser mediated DNA uptake- (4) Tiplasmid

145. WMWWWWH@7

(1) gwreA | ) |t aﬁ@tﬁaﬂ

(3) i feearders @) S=fedfE
Which of the following is not an example of fungal biopesticide ? -
(1)  Trichoderma (2) Metarhizium anisoplia
(3) Agaricus silvaticus (4) Beauveria bassiana

146. @WWEWWW?

M & @ wW\m @) ) @
Which of the following zone is seismically most active zone ?
(1)  Zone (I) (2) Zone (II)V (3) Zone (V) - (4) Zone (IV)

o] SHTUTETS! AW /SPACE FOR ROUGH WORK PT.O
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147.

W oy@ @ onyp

54 C

rotet H frard @ sia?

(a) TSR Qeftes Seren Sk 26611%31&93311@ |

() ﬁuﬁiavaqmﬂwvﬁuwaﬁa ST S o ) e e A,
v

W e O wEE)
O FEIm 00 @ waw

Which of the following statements are correct ?

(a) Bhyj Barthquake of Gujrat accured in 26 January 2002

(b). To reduce the intensity and destructive effect means mitigation,

Answer options :

(3 Both(@and(®) - (4) Neither

148.

1986 S i SRS e ST ST, e e o T
O FEE ) wEERw
(3) = B (4) SRt |

Chernobyl Atomic Power Plant disaster in 1986 took place in which of the following state
of Russia ?

(1) Ukraine State (2) Uzbekistan

(3) Estonia ' (4) Georgia

FoeAl SHTHIETS! WM /SPACE FOR ROUGH WORK.
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149, TSR Foen Yafis AT gaiq FH I Foid o g A 2

() Y MMV TS HREN (b) AR
(0 TEwEHAWATE () T
WW: \ ' .

(1) 9 (a) B (2) I (a) S (b)
(3) T (d) 4 wiowd

Which of the following disaster causes maximum damage in shortest time ?

(a) Earthquake and Landslides - (b) Earthquake and floods

(c) Landslides and hailstorms (d) Floods

Answer options : _

(1) Only (a) (2) Only (a) and (b}

(3) Only (d) (4) All the above . -
150, WWWW%W%W7

(a) - SEPT (b) e - @

(c) TR - i (@) e - T L

T S |

(1) . (@) =i (b) (2) W (b)

@) (0 =M (d) L ) (@A

Which of the following rivers are causing disasters in Western India ?

(a) Ganga and Brahamaputra (b) Narmada and Tapi

() Mahanadi and Godavari (d) Mahanadi and Tapi

Answer options :

(1) (@ and(b) (2) only (b)

(3 (9and(d) (4) only(d)

-o00o0-
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